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Type some Sage code below and press Evaluate.

1 from sympy import Function, rsolve

2 a = Function('a')

i wvar('n')

i f = a(n+l)=7=a(n)+6+a(n-1)-6"n=-3"n-4xn-8
5 ans = rsolve(f,a(n))

6 show(ans)

' realans = rsolve(f,a(n),{a(1):3,a(2):6})
5 show(simplify(realans))

Evaluate

~3+#n/2 + 6+*n*C1 + 6+*n*n/5 + CO - 2*n*(5*n + 27)/25
~3+sn/2 + 6+*n*n/5 - 16+6+*n/125 - 2+«n*(5*n + 27)/25 + 1657/250

—

e Srdusin, Grchiiims Joe 4 st
S = GuSY S U
5| = il (5]« [8h ¢ls\-lsos] - s8]~ s
— (505 = |%0%) = [sins]

+ 5050 {_(glqs,nS,[J,ISln%pf.(h 5,0, 05
— \S(/l gz /\%/\ Sqt :

e /—




E(Mlel (Ve brow bt T has 760 studots

Wh spal {{cwh 500 studedcwhe spack Ukrainton,
5000 <Tudoils who speak Spaish - Thew aa 360 studed®
(e spenh- botk H’w{tz/llt"ﬂhtw“ ‘)’(Q,,, e |00
Who spals. Hhds & gpanih ; @ o oa LED studusls
U)(m 9@%*&(1&01&"‘ TLMM 5¢ studas

who speok. Spueh, Ueropion. , oo i
@Z'Lm oo ttng sl e Skl
or Neeanon®,

30 |Soetbocth] = 18]+ (114l

\gnul- [#aut) - (gnUl
+ |sotalk

— X000+ 700 ¢ 500




